UNIT 6: IRRATIONAL MATH  .......
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A m‘.e square of the length of the longest
/ f side of a triangle is equal to the sum of the|
F squares of the lengths of the other two
sides, then the triangle is a right triangle.

Betause of the Pythagorean Converse, we can check whether a triangle is a righ triangle or not. Consider

the following two triangles.}|f their side lengths make the Pythagorean Theorem THe; he
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Determine if the following triangles are'Fi 0 ornot. You must justify your answer. Diagrams
are not drawn to scale. ?
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